MERCRUISER (4.3 [GEM 1[4 BEL.] GM 282V-61393-199%] < STARTER MOTOR AMD ALTERMATOR b w
Serial Mbr A ange: OFO01 220 THRU OFE0T126 ()
Ref |Clazs|Part Description Qt Comment Footnote
2 10 A05343 2|SCREW  3-1/4"DIAMETER END| 2
3 11 15874 |NUT [10mb]  3-1/4" DIAMETER |1
4 11 40021 1|MUT[BMM]  31/4" DIAMETER EI| 2
1 2] 069644 2| STARTER MOTOR 278" Dildk|1
2 10 A05343 2|SCREW  2-7/8" DIAMTER EMD |2
3 11 B0E549|MUT [Bkikd] 2-7/8" DIAMTER EN |1
20 4 11 40027 1|MUT[BMM]  2-7/8" DIAMTER EM1
| 5 25 TIE95|IMSULATOR 1
! 5 2171194 4 ALTERNATOR 1
| 7 13 26996 | LOCK\WASHER 1
| g 12 96457 '"WASHER 1
9 11 79989 |MUT [10-24) 1
‘ 10 13 26992 | LOCKWASHER 1
11 11 94330 MUT [1/4-20) 1
12 85013T|BRACE 1
13 10 98261 SCREW 1
14 10 29198 SCREW 1
15 12 26168 '"WASHER 1
16 57908 11| TUBING 2
17 15083T |BRACKET 1
18 10 ATE1Z | SCREW [1-1/4") 2
18 10 34353 |5CREW [1' 1
19 12 20553 '"WASHER 3
20 10 56743 SCREW [3-1/8") 1
21 11 23161 |NUT 1




